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Answers to this paper must be written on the paper provided ScbaratelY-
You will not be allowed to write during the first 15 minutes.
This time is to be spent in reading the question paper.
The time given at the head of this paper is the time allowed for writing the answers,
The question paper consists of 3 sheets printed on 6 sides.
The figures to the right of the questions indicate full marks for that question.

SECTION — I (40 Marks)
(Attempt all questions from this section)

QUESTION 1 , .
(a) Name the following: - o ' [5]

i The fluid which surrounds the human foetus to protect it from mechanical shock.
ii. The unit of heredity in living organism.

iti. The membrane that lines the inner surface of the eyelids and the exposed surface of

. the eyebali.
iv.  The number of chromosomes present in a nerve cell of a human being.

v.  The canal through which the testes descend into the‘scrotum just before birth ina
human male child.
~(b) Given below are six sefs with four tcrms ea(,h In each set one term is odd and | [S] .
cannot be grouped in the same category to which the other three belong. Idcntlfy
the odd one in each set and name the category to which the three belong. The
first one has been done as an example:

Sr.No. |SET o B .| ODD ONE | CATEGORY
Eg: Calyx, midrib, corolla, androecium. midrib Parts of a flower
i. Cerebrum, cerebellum, thalamus,
hypothalamus
ii. | Auxins, ascorbic ac1d abscisic acid,
cytokinin

iii. | Pulmonary vein, hepatic vein, renal
vein, superior vena cava
iv. | Plastic, paper, glass, aluminum

v. | Myopia, hypermetropia,
xerophthalmia, astigmatism
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(c)

iv,

(d)

i,

iii,

iv.

ii.
iii.
iv,
V.

M

relatxonshlp between the two terms, Rewute and com

i
ii,
i,
iv.
v

‘“‘Il""

thl31 et

Given helow are five seis.of terms. In each case, arrange and rewrite
cach sct so as to be in logical sequence:
Dorsalroot ganglion, receptor, effector, ventral root uangllon assocxated neuror»
("t hlea, tympanum, pinna, oval wmdow gar ossicles.
Node of Renvicr, synapssz,-axon endings, cyton, dendrite. )
Vagina, ovary, uterus, oviduct, cervix. ,
Water molecules, oxygen grana, hydrogen and hydrox yl ions, photons.
Choose the most appropnate answer from the given optxons and rewrite the -
sentences:
Aqueous humour is present between the
. Lensand retina b, iris and lens
¢. Cornea and iris d. comnea and lens -
The space between the cell wall and plasma membrane in a plasmolysed cell is -
filled with . ' ) o ]
a. Isotonic solution b. hypotonic solution ¢. hypertonic solution  d. water
The theory of Natural Selection was proposed by
1. Darwin ' ~ b.Mendel | ¢. Lamarck 7 d. Wallace
Which part of the eye is graﬂed ina needy patient from a donated eye?
a. Conjunctiva - b. commea ¢. choroid o d. oiliéxy muscle"
Sterilization in the females mvolves cutting and tying the o IR
| a ureter “L et R b uterus ¢. urethra .

- d. ov1ducts

Give one pomt of dlfference between the followiug pairs on the basxs ofthe

parameter given in the brackets:
ATP and IAA (expand the abbreviation) ¢

8}

Light reaction‘ and dark reaction (place of occurrence)

Monohybrid cfoss and dihybrid cross (phenotypxc ratlo)

Pancreas and thyroid (locatlon)

el

Btodegradable waste and non-biodegradable waste (defi inition)

Give below are groups of terms. In each group the first pair mdxcates the ‘ [5]'
plete the second pair on a
similar basis: ' -

Presbyopla Convex lens:: : Cylindrical lens.

Emergency hormone Adrenalmc Blrth hormone:

Coronary artcry Heart:: Hcpatxc artery s bl
' . ot ‘ e - .

CO,: Greenhouse effect SOZ N g

—_——— e

Oxyhaemoglobin : oxygen and haemoglobm Carboxyhaemoglobm "
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(h) Giveninthe box below are a set of 14 biological terms. Out of these, 12 can be {5}
pamd into 6 matching pairs. One has been done for you as an example:
Example: Sewage - eutrophication,

Sewage, cell division; turgid cell, sinu-atrial node,cthylene, acromegaly,
eutrophication, Graafian follicle, endosmosis, pacemaker, corpus luteurn, growth
hmmone cytokinins, eX0smosis

(e) Mntch the columns and write the answer in the format provided below. | [S]
i S - i1
a. Nissl’s granules . i. Centriole
b. Aster | ii. Natality
¢. lEuro norms | iil. Moftality
d. Birthrate - iv. Radiation waste
e. lodine 131 © . o ' v. Vehicular standards
| " o vi. Cyton
a. ,b , . ,d e

SECTION —I1 (40 Marks)
(Attempt any four questions)

Question 2

a)  Study the figure given alongsxde and answer the questlons that fo]Iow. o (51

i. Name the tropic movement shown by the
shoot and the roots.
ii. What is the stimulus that made the shoot
bend towards the window?
iii. Which plant hormone cansed the effect in
i |
iv. "Explain the role of the hormone in the
shoot towards the window?

'b)  Study the ﬁcrure given alongside and answer the questlons that follow'

1. What does the figure depict?

ii. State any two sources of the event -
mentioned in i.
1. Write one effect of the above cvent on
human.

iv. State one way of controlling lhe above
mentioned event.

Explain the term ‘Pollutant’
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'Question 3

a)

b)

i,

iii.

" iv.  Which is the cell division that results in half

leen alongSIde is a dmgmm showing uterine changes seen in relation to follicular

changes during the menstrual cycle. Study the diagram and answer the questions
that follow:

i. Name the part | tlabe 3
ii. Explain the process shown i
iii.  State the endocrine fo nction of

‘b :
iv.  State the terms which mean the
 beginning and the stoppage of the
above cycle.

[5]

B
P
i{\.
i

)

!

'

A homozygous tall plant (T) bearing red coloured (R) flowers is crossed with a [5]
| homozygous dwarf (t) plant bearing white (r) flowers: -

Give the genotype and phenolype of the plants of F; generation.

Mention the pqssxble combmatxons of the gametes that can be obtamed ﬁom the F,
hybrid plant.

- State the Mendel’s law of Independem A.ssortment

_Qllxes'tion o
a). (5]
. division and answer:the questions that follovwy:

SR R Label the parts;numbered 1 and 2.
O | iy .{Identlfy the stage giving suitable reasons.
- iii. ‘What is the technical term for the division of

Study the dlagram gwcn alongside which repy esents a stage durmﬂr the mitotic cell

- nucleus?

- the number of chromosomes in daughter
cells?

v. . Draw a neat labelled‘ diagram of the stage that
comes before the stage shown in the diagram. T

e -
“Answer the following questions: I ;u??_;lu ?

State any two functions of lymph ;‘3 2 j: [.2]-
PR Y St
" e ¢ 3 7 <r;>
: .\" = - N
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Question S

2)

D)

“ii. . Define the physiological process

Given alongside is an experiniental demonstration of a physiological process that [5]

" takes place in a plant tissue, Study the dingram and answer the questions that

follow:

i.  Whatis the aim of the experiment?

POTATO S

) s
 PEIRI Plgr“. )
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— SVGER - 345 y
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* that takes place in this experiment.
ifi. What will you observe after few

=y

hours?

iv. What changes will be observed, if
concentrated sugar solution is
taken in beaker and water is placed
in the cavity of the potato? Why?

i< OF

Given alongside is a diagrammatic representation of a defect of human eye. _ [3]
Study the diagram and answer the queStions that follow :
i.  Identify the defect.

ii.  Mention two reasons for the above defect.

1,
Y

(48

iii. State how the defect can be rectified.

4

v

iv. What is the effect of this defect on man?

Question 6. -

a)

b)

~i.

- State two ob_]ectwes of ‘Swachh Bhalal Abhiyan’

" State the three f_apto;s responsible for population explosion in India. .

- The figu‘ré.giﬁen alongside represents an experimental set up with a weighing [5]

machine to'demonstrate a particular process in plants. The experimental sei up was-

placed in bright sunlight. Study the diagram and answer the questions that follow:

i. Name the process intended for study.

ii. Define the above mentioned process.

iii. When the weight of the test tube (A and B)
is taken before and after the experiment,
what is observed? Give reason to justify
your observation in A and B.

iv. What is the purpose of keepingthe test B
in the experlmenml set up? '

A

Answer the {ollowmﬂ questions:

2]

(]
/’.'/;‘\ :

Scanned by CamScanner



Question 7

a)

b)

The diagram given alongside shows two test tubes A and B. Test tube A containsa - [J] |
green water plant. Test- tube B contains both a green water plant and a snail. Both

i,  Name the physiological process that
releases the bubbles of oxygen.

1

c1i. Explain the k,m siological process as

menticned 1n 1.

iii. Whatis the purpose of keepmg a snall in
test tube ‘B’?

iv. Givean example of a water piant that can

be used in the above experiment.

- v.  Write the overall chemical equatlon for

the above process.

Given alongside is the figure of certam organs and its assocnted parts. btudy the
same and then answer the questlons that follow

1. Name all the organ systems which are

shown completely or even pa'_rtialiy.A

. di. Label the parts marked 1 to 4,

.

Name any two main organic constituent 'of
fluid that flows down the part labelled 2.

iv. Mention two functions of kldneys

hydrilla |

test — tubes are kept in sunlight. Answer the questions that follow:

15]
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